BJ749 TR AEERE

RaHS IMAO
Wi H

M ‘,ﬂ,
|
\ o

O B
| L
Bl N7

S45C
[BI749106~20| ey —cuge

A%
BJT49} 24 | gy =y

WirER
il = (ngg M Wi H Hi zf
BJ749-08010 | 10 M 8x1.25 | 15 12 6 15
BJ749-10012 | 12 M10X1.5 18 14 7 20
BJ749-12014 | 14 M12x1.75 | 22 16 8 35
BJ749-16018 | 18 M16x2 28 20 10 70
BJ749-20022 | 22 M20X2.5 34 28 14 155
BJ749-24028 | 276 | M24X3 44 36 18 330
| kel
il = ngg) M Wi H Hi zf
BJ749-06010 | 10 | M 6X1 15 12 6 15
BJ749-08012 | 12 | M8x125 | 18 14 7 20
BJ749-10014 | 14 | M10X15 22 16 8 35
BJ749-12018 | 18 | Mi2x1.75 | 28 20 10 70
4B RVIRFL R ST HEEE — AR T AR S R ST
BIENFEM1 6 R TIAEE R M1 2884 R, BN
9 ke SN

%




